
01

File: TD-800620.00-Moderna-4seitig_Montageanleitung.dsf

TE-800 620

Rev :

Rev.

Erstellt : Datum / Visum

.00

Geprüft : Datum / Visum Freigegeben : Datum / Visum

/

/

/

/ /

/

.01

MOSER-BAER AG Switzerland

Bl. 1/1
19.08.2008 AA 19.08.2008 AA 19.08.2008 mh

A

A

B B

B B

B B

C C

C

C

D

E E

EE

E

E E

E

E

E

E

E

E E

EE

F

G

H

J

J

K

L
L

L

L

LL

L

LL

L

LL

L

L

L L

M M

N NO O

Large capacity clock MODERNA 4-sided
Mounting instructions zu Bausatz: Rack with floor panel and ceiling mounting for
accepptance of four siingle-sided slave clocks MODERNA 40 x 40 cm.

MBS-Nr.

pos.

A

B

C

D

E

F

G

pce.

1

4

4

1

16

1

1

object

ground

corner Iron

frame angle

carrier

eccentric ring

pendulum pipe under

pendulum pipe top

pos.

H

J

K

L

M

N

O

pce.

1

4

4

16

2

4

4

object

bushing

nut 1/2-G

cover rosette

countersunk screw M6x20

cylinder bolt M6x12

cylinder bolt M4x8

hex nut M4

Mounting kit part-no. 251448


